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I, = [(—- 600-100%) + (0)] + 2[(%-100-3003)+(30000-2002)]= 29-10° mm*

I, = [(—-100-6003}+(0)]+2[(%-300-1003)+(30000-2502)]= 56-10° mm*
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« Ag=600-100= 60000 mm’ . A, = Ap = 100-300= 30000 mm?. i=A,B,D 1 ,sea5

razed po il o dyg=0mm ; dy = —d,p=—-250mm . dyg=0mm .d, ,=~d,p=200mm

I)(y = [Tx’y',A + (AAdx,Ady,A )]"‘ [Tx'y',B +(A8dx,de,B}]+ [Ix’y',D + (ADdx,Ddy,D)]

Iy = [0+ (30000-— 250- 200)]+ [0+ (0)]+ [0+ (30000- 250-— 200)]

=—15-10° [mm*] + 0 — 15-10% mm*

Ly = —3-10° [mm*]
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L= Z[(Te)+(Ad2;)]
= (L) + (Agd2 )] + 2[(L g)+ (A d25)

— i L4503 i 03 4
= [(1250 4507)+(0)] + 2[(12150 50%)+(0)] mm

= I, = 382812500 mm*
I = Z[(Ty) +(Aidy;)]
= [(Iq)+ (A dZq)] + 2[(L,0)+ (Ayd2,)
= [(%450-503)+0] + 2[(%50-1503“(501150-1002)] mm*

= I, = 182812500 mm*
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L= Z[(Te)) + (A d)]

= 2[(Ly 1)+ (AgdZ )] + 2[(Te0) + (A, dj )
1

= [(ﬁaoo-ao%+(3oo.3o-852)] + 2[(%30-2{303”(0)] mm*

= I, = 171400000 mm*

I,=Z[(T ) +(AdZ))]

= 2[(Ty)+ (A dZ )] + 2[(1,5) + (A d25)
1

- 2[(ESG'SOOS)+O] + 2[{%200-303)+(3O-200-1652)] mm*

= I, = 462600000 mm"*
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Iy = Z[(T,;)+(AdZ)]
= [Ty 1)+ (A )]+ 2[(1,5) + (A, d2,)

- [(%300-503“(0)] : 2[(%50-2003)40)1 mm

= y = 69791667 mm*
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@) 105 4500 472500
AZEAi: Zyi.Ai:
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r y: EY|A| _ 540000 - 60 -
x S A 9000
dyy = 60-15=45mm
=
dyp=105-60 = 45 mm
e

T = Z[(T, ) +(ArdE;)]

= [(Tyt)+ (A dg)] + [(T co) + (Ap dZ)]

= [(--150-30%) + (4500-452) |+

5 :30-150°)+(4500-45%)] mm*

J
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= L= 27-10° mm*
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@ 10 30 1200 12000 36000
2 50 10 1200 60000 12000
A=SA=2400 | TX-A =72000 | Tf-A = 48000
¥ ¥

c.f= 1030)  Cr(50.10) '

(v
L=2[(I)+(A- )] = [(%-20-603)+(1200‘302)]+[(T1§-60~203)+(1200-102)] = 1600 000 mm*
Iyzi[(fyi)ﬂA[-Yf)]=[(%-60-203)+(1200-T02)}+[(1i2-20-603)+(1200-502)]—3520000mm4

(v
L=T.+Ay = I.,=L-Ay" = I.,= 640000mm*

L=I,+A% = L,=[-A%X = I,=1360000mm
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I, =Z[(Ty)+(A- §3)] = [(%-30-2003)+(6000-1002)]+[(%-170-303)+(51OO-152)]+
2 [(%-70-303)+(2100-1852)] = I, =153560 000 mm*
L= Z[(Ty1)+(Ai-?iz)]=[(%-200-303)+(6000-152)]+[(%-30-1703)+(5100-1152)]+
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L=Ts+A-¥" = TLo=L-A§y = I, = 67633864 mm* \
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0 0 125 8125 0 1015625
) 100 75 2500 250000 187500
©) 100 75 2500 — 250000 187500
@ 0 _50 2500 0 ~125000

A=A =15625 | SX-A =0 | XF-A =3515625

_ |y’
C3=(100,75)

C2= (100,75)
lc=@&y)

i
C1=1(0,12.5)

(x
L= Z[(T)+(A- §2)] = [(1i2-325-253)+(8125-12,52)pr 2-[(112-25-1003)+(2500-752)] +
¥ [(%-25-1003)+(2500-(—502))] — 1= 42317 708 mm"
I,=Z[(L)+(A- )] = [(%-25-3253)+0)]+2- [(1%-100-253)+(2500-1002)] +
+i(%-100'253)+01 = 1,= 121907 552 mm’
L=T,+A-7% = T,=L-A§y = TI,=34407552mm’ (v

L=L+A%¥ = L=L-A%X = I,=121907552mm’
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cos” ¢ [x* dA + sin [y*dA + 2sing cosg [xyda
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=5 Pp1

tan2¢, = -2,22 2o, = 658"
p2 = T
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' 2 2
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